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NEBOSH ELEMENT 1- Mock up Exam
 
1. Outline potential barriers that might there be to good health and safety practice (8) (Feb 2018) 
Or 
Outline potential barriers in achieving good health and safety (8) (Feb 2018) 
The
A.













 
2. Give the meaning of the following term : (Feb 2018) 
a) Health (2) 
A.


 
b) Safety (2) 
A.


 
c) Welfare (2) 
A.



3. Explain/Outline reasons for promoting and maintaining good standards of health and safety in the work place (8) (Feb 2018) 
A.

















4. Outline social or legal reasons for maintaining and promoting good standards of health and safety in the workplace. (6) 
A.

















5. Outline how national governments can contribute towards good standard of heath and safety within their territories (8) 
A.


















6. Most courtiers have laws that require organization’s to manage health and safety risks. 
a) Outline reasons why national governments have health and safety laws (6) 
A.









b) Outline ways in which national governments can help ensure organizations comply with health and safety laws (4) 
A.









7. Outline why nationals/state governments have health and safety enforcement agencies (4) 
A. 


















8. Outline the main health & safety responsibilities of an employer ( 6) 
A.




b) Outline possible consequences for workers if they fail to meet their health and safety responsibility? (4) 
A.










9. Outline how the following can contribute towards good standard of health and safety: 
(a) International standards, such as International Standards Organization (ISO) (4) 
A.









(b) Enforcement agencies (4) 
A.















10. A serious accident has occurred to a worker and, as a result, there will be costs to the organisation. (Feb 2018) 

a. Identify costs that are likely to be insured (3) 
A.







b. Identify costs that are likely to be uninsured (3) 
A.
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